Chapter 22: Project Resource Planning (FPM2ed p.276)
1. Resource Planning

2. Body of Knowledge Mapping

3. How to Draw the Resource Histogram

4. Resource Loading

5. Resource Smoothing

6. Time-Limited Resource Scheduling

7. Resource-Limited Resource Scheduling

8. How to Increase the Project's Resources

9. How to Reduce the Project's Resources

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

22.1: In the project context, which two of the following are a Resource?
a. The equipment to make the project.
b. The skilled workforce to make the project.
c. The drawings and specifications that define the content of the project.

d. The project plan that outlines when the work will be performed.

22.1 Answer: A and B are correct. Resources are the machines, equipment and competent people that make the project. C is incorrect as the drawings and specifications are not considered as resources. D is incorrect as the project plan is not considered as a resource.

22.2: Which two of the following correctly indicates the position of the Project Resource Planning developed in the Plan Flow Chart? (FPM2ed p.121)

a. After the CPM analysis and Gantt chart have been developed.

b. After the cash flow statement has been produced.

c. After the organization structure has been established. 

d. After the project procurement planning has been calculated.

22.2 Answer: A and D are correct. However, this answer needs to be clarified because some project managers might use a different sequence based on the needs of the project and their personal experience. The text has assumed that the procurement constraints, particularly long lead items, are less flexible than the project resource constraint and the project cash flow constraints, and project resource constraints are less flexible than project cash flow constraints. This is why project resource planning follows project procurement and is performed ahead of project cash flow. B and C are incorrect for the above reason. 

22.3: Which two of the following relate to Project Resource Management? (FPM2ed p.276)
a. The project manager’s challenge is to use resource management techniques to match the resource supply with the project resource demand and to enable the project to meet its schedule objectives.
b. Project resource management ensures that the procured items are delivered on time.

c. Project resource management can only be applied through a matrix organization structure.

d. The resource histogram is a special form of bar chart used to describe the central tendency, dispersion, and shape of a statistical distribution.
22.3 Answer: A and D are correct. Project resource management uses the resources available (in-house and contactors) to perform the scope of work as per the project plan. This is often presented as a resource histogram to show the resource loading graphically. B is incorrect as resource management is not related to procurement management. C is incorrect as project resource management can be used with any type of organization structure.

22.4: Which two of the following items of information are required to draw the Resource Histogram? (FPM2ed p.278)
a. The resources labour rate.

b. The resource histogram can only be used with a matrix organization structure.

c. An early start Gantt chart (that has already considered the procurement requirements to ensure that the materials and equipment are available for the work).
d. A resource forecast (estimating the resource requirement) per activity per day and the resources available.

22.4 Answer: C and D are correct. The resource histogram can only consider one resource at a time where the resource loading and availability are compared. This highlights resource overload and underload – both need to be addressed by the project manager. A is incorrect as the cost of the resources is not generally considered in the resource histogram. B is incorrect as the resource histogram can be used with any type of organization structure.

22.5: Which one of the following relates to Resource Overloading? (FPM2ed p.280)
a. The resources are working on top of each other.
b. The resources are over crowded in a tight area.
c. More resources are required than are available.
d. The resources are required to lift heavier loads than the safety levels allow.
22.5 Answer: C is correct. A, B and D are incorrect.
22.6: Which two of the following relate to Resource Smoothing? (FPM2ed p.280)
a. The resource leveling selects resources that are the same height.

b. Time-limited resource scheduling.
c. Resource-limited resource scheduling.
d. Improving the workforce skills level.
22.6 Answer: B and C are correct. Time-limited resource smoothing and resource-limited resource smoothing are two different types of resource smoothing. A and D are incorrect.
22.7: Which three of the following relate to Time-Limited Resource Smoothing? 
 (FPM2ed p.282)

a. If the planning forecasts a time overrun, all the different resources are increased on all activities so that the project can be completed on time.

b. Reduce the scope of work so that the resources available are able to complete the project on time. 

c. Consider the difference in costs between the cost of increasing the resources to complete the project on time, compared to the cost of time penalties.

d. If the planning forecasts an overrun only the resources on critical activities are increased so that the project can be completed on time.

22.7 Answer: B, C and D are correct. Time-limited resource smoothing relates to actions taken to complete the project on time. This could include reducing the scope of work or increasing the number of resources. The project manager should also consider the best cost option as it might be more cost-effective to accept time penalties if the cost of completing the project on time is greater. A is incorrect as increasing the resources on non-critical activities will only increase the amount of float and, therefore, be considered a waste of project resources.

22.8: Which three of the following relate to Resource-Limited Resource Scheduling? (FPM2ed p.283)

a. The number of resources that can work in an area or on the project at any one time are limited.

b. There are a limited number of work stations or equipment.

c. The resources have limited capability (technical, competency and experience).

d. A confined space might limit the number of resources able to work in the area at the same time.

22.8 Answer: A, B and D are correct. Resource-limited resource smoothing relates to actions taken to limit the number of resources working at any one time. The space available or the number of machines and equipment available might influence this. C is incorrect as resource-limited resource smoothing relates to the number of resources and not the capability of the resources.

22.9: Which three of the following relate to how the project manager could Increase Project Resources? (FPM2ed p.284)
a. Instruct the resources to work overtime.

b. Subdivide the work into shift work.

c. Use subcontractors.

d. Reduce the scope of work.

22.9 Answer: A, B and C are correct. These are all methods to increase the number of resources available. Increasing the amount of overtime worked will increase the number of man-hours, shift work will increase the resources in confined spaces, and using sub-contractors will increase the resources available. D is incorrect as, although this will match the scope of work to the resources available, this does not answer the question.

22.10: Which two of the following relate to how the Project Manager could Reduce Project Resources? (FPM2ed p.285)
a. Send the additional resources on holiday.

b. Send the additional resources on training courses.

c. Instruct the resources to work slower to keep the resources actively employed for longer.

d. Assign the resources to company maintenance work.

22.10 Answer: A and B are correct. Assuming the resources are full-time employees then sending them on holiday or training courses are viable options. C is incorrect as this option is commercially unproductive. D is incorrect as company maintenance work is not a project responsibility. D would have been correct if the resources were assigned to maintain the project team’s equipment but not general company maintenance.
